


¥ 3 ¥ ¥ 4 =X ¥ 3
f 1 ) I I : ) y A l )
¥ E ¥ ] = ¥ 2 3 a ¥ 3 — a2 3 2 ¥ 3 . 3 2 =3 S i3 3 r ] = 4 E =2 . 2
' | | 4 i Il 73 |
¥ ] =2 ¥ ¥ k] ¥ E 2 ¥ ] ¥ e ¥ | E] — 1 > ¥ 3 2 3 2 E 2 2 3} ¥ ol . ¥ ¥ 3}
4 f 5 | | \ L ] %
¥ E ¥ 3 E e 3 3 3 3 = 32 3 el ¥ 3 b 3 i E 2 3 = 2 — 4 . ¥ e
. ' I ) ) { ) [ | | ) ' '
3 3 3 ¥ 3 E 3 3 - 3 ~ ¥ 3 3 ¥ 2 il ¥ 3 ;| ¥ ¥ 3 3 ¥ =3 ¥ ¥ ;| ¥
| | | i | - r
¥ E ¥ | E 2 3 ¥ ¥ 2 ¥ | E] 3 ¥ ¥ 3 B 3 3 E 2 3 3 2 3 2 ¥ F
I | } y ] ! | / 1. 2k ! k) ) , T
¥ ] 2 - 2 ¥ =2 > = 2 ¥ ¥ 2 ¥ | E] : F=>2 ¥ 3 2 - ¥ ¥ ¥ ] 2 K 2 =2 ¥ B 2 i | ¥

largest_num = num[@]
second_largest_num = num[@]
third largest num = num[©]

<=

for 1 1n num

if 1 > largest _num
third largest num = second largest num
second_largest num = largest num
largest_num = i
lif i » second largest num
third_largest num = second_largest_num
second_largest_num = 1

elif i > third_largest_num
third_largest _num = i

("Third largest number of the list is {}".format(third largest_num))

Third largest number of the list is 97




for num in list1:
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iT num % 2 == 8

even_count +=
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